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Fmax Test: (a.k.a. Hartley’s test)

F —max_ (f=p*-1  where n* = max(ny, ny)

max, s =
min

Brown & Forsythe’s Test: (for 2 samples)

10

Absolute deviations from the median measure variability or variance: |x; — X
Uses recoded data: z,; = |x;; — X,| , 2;; = |x;; — X, | where X; is the median of sample i.
2>Ho.: “deviations from the median are the same in the 2 populations”

E-J._E-Z
Tsr = ==, . Wwithdf =n, +n,—2 (Equal variance withs] in the SE)
5Bz, -2,
with a two-sided Rejection Region

Note:
o More robust to non-normal populations than the Fmax test and F-test.
o Brown & Forsythe’s version is more robust, since it uses deviations from the median.

There is no Fmax test in R, but it is easy to compute and ballpark the critical values.
var.test() in R uses the F-test which is not robust to non-normal data.

Example: [specially created so that sd(Zij)=mean(Z;) for convenience]

X

X2 z1 z2

2

6

1
3
5
6
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mean
SD




